Csop Ford Mérk.
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TabellakR1

A Csoport
Csapat Nyert Vesztett Pontszam
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B Csoport
Csapat Nyert Vesztett Pontszam
GyongyHalaszok 10
Turistak 8
PingPongHév
Langviragok
Idegenbe
Betonziizok
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csoportnevterR2

Csop FordMérk.  Hazai Vendég  H_E V_EH_PontV_Pont
1 1 SZEPIKU Kéosz 4 1 2 1
2 GyongyHalasz PingPongHév 0
3 Turistak RAD-B-IZOM 3
1 RAD-B-IZOM  SZEPIKU 1
Kdosz GyongyHalasz: 3
PingPongHév Turistak 5
SZEPIKU Turistak 3
GyongyHalasz/ RAD-B-IZOM 2
Kdosz PingPongHév 4
PingPongHév SZEPIKU 1
Turistak GyongyHalasz: 4
RAD-B-IZOM  Kéosz 1
SZEPIKU GyongyHalasz: 4
Turistak Kéosz 2
RAD-B-IZOM PingPongHév 2
Piros Asz Idegenbe 5
Langviragok Betonzizok 3
11 IDE! Kélvaria 4
Kélvéria Piros Asz 0
Idegenbe Langviragok 1
Betonzuzék 11 IDE! 0
Piros Asz 11 IDE! 5
Langviragok Kalvéria 5
Idegenbe Betonzuzok 2
Betonziizék  Piros Asz 0
11 IDE! Langviragok 0
Kalvéria Idegenbe 0
Piros Asz Langviragok 4
11 IDE! Idegenbe 5
Kélvaria Betonzuzok 0
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TabellakR2

A Csoport
Csapat Nyert Vesztett Pontszam
SZEPIKU g 0 10
Kdosz 4 1 9
Turistak 2 3 1
RAD-B-1ZOM 1 4 6
GyongyHalaszok 0 5 5

B Csoport
Csapat Nyert Vesztett Pontszam
Piros Asz 5 0 10
Langviragok 4 1 9
11 IDE! 3 0 6
Kalvaria 0 1 1



